BID SUMMARY							BIDDER #1		BIDDER #2		BIDDER #3	
Owner: CITY OF CLE ELUM							DJB Construction, LLC		Granite Construction Company		Advantage Dirt Contractors, Inc.	
Project: SR 903 UTILITY EXTENSIONS							P.O. Box 2138		,,,,,,,,,,,	P.O. Box 1011		
HLA Project No.: 18101							Wenatchee, WA 98807		80 Pond Road Yakima, WA 98901		934	
Bid	Opening Date: July 8, 2019									Kittitas, WA 989	104	
Item	tem 14 Danielitie			ENGINEER'	ENGINEER'S ESTIMATE		=					
No.	Item Description	Unit	Quantity	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	
SCHI	EDULE A - MILLER AVENUE & SR 903 SEWER EXTENS	ION							747703710	O THE THEO	Allount	
1	Minor Change	FA	EST.	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	
2	Mobilization	LS	1	\$1,500,00	\$1,500.00	\$3,000.00	\$3,000.00	\$13,220.00	\$13,220.00	\$2,523.95	\$2,523.95	
3	Project Temporary Traffic Control	LS	1	\$5,000.00	\$5,000.00	\$3,200.00	\$3,200.00	\$2,420.00	\$2,420.00	\$12,436.77	\$12,436.77	
4	Crushed Surfacing Base Course	TON	36	\$45.00	\$1,620.00	\$50.00	\$1,800.00	\$20.00	\$720.00	\$46.23	\$1,664.28	
5	Crushed Surfacing Top Course	TON	26	\$45.00	\$1,170.00	\$50.00	\$1,300.00	\$20.00	\$520.00	\$76.12	\$1,979.12	
6	HMA CI. 1/2-Inch PG 64-28	TON	20	\$140.00	\$2,800.00	\$150.00	\$3,000.00	\$130.00	\$2,600.00	\$205.91	\$4,118.20	
7	Manhole 48 In. Diam. Type 1	EA	1	\$3,800.00	\$3,800.00	\$5,000.00	\$5,000.00	\$6,000.00	\$6,000.00	\$6,843.80	\$6,843.80	
8	Shoring or Extra Excavation	LF	220	\$4.00	\$880.00	\$5.00	\$1,100.00	\$1.00	\$220.00	\$12.98	\$2,855.60	
9	Select Backfill, as Directed	CY	20	\$40.00	\$800.00	\$70.00	\$1,400.00	\$28.00	\$560.00	\$92.36	\$1,847.20	
10	PVC Sanitary Sewer Pipe 12 In, Diam.	LF	220	\$70.00	\$15,400.00	\$130.00	\$28,600,00	\$110.00	\$24,200.00	\$169.16	\$37,215,20	
	SCHED	ULE A SI	JBTOTAL		\$37,970.00	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	\$53,400,00	\$110,00	\$55,460.00	\$100.10	\$76,484.12	
	8.0%	STATE SA	LES TAX		\$3,037.60		\$4,272.00		\$4,436.80			
			A TOTAL		\$41,007.60		\$57,672.00		\$59,896.80		\$6,118.73	
SCH	EDULE B - NUMBER 5 MINE ROAD & SR 903 SEWER				411,001100		\$01,012.00		ψ39,030.00	ļ	\$82,602.85	
EXTE	NSION											
11	Minor Change	FA	EST.	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	
12	Mobilization	LS	1	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00	\$8,000.00	\$8,000.00	\$675.82	\$675.82	
13	Project Temporary Traffic Control	LS	1	\$2,000.00	\$2,000.00	\$3,000.00	\$3,000.00	\$4,800.00	\$4,800.00	\$8,104.58	\$8,104.58	
14	Clearing and Grubbing	LS	1	\$70,000.00	\$70,000.00	\$15,000.00	\$15,000.00	\$5,700.00	\$5,700.00	\$18,298.71	\$18,298.71	
15	Crushed Surfacing Base Course	TON	165	\$45.00	\$7,425.00	\$35.00	\$5,775.00	\$20.00	\$3,300.00	\$31.06	\$5,124.90	
16	Crushed Surfacing Top Course	TON	65	\$45.00	\$2,925.00	\$35.00	\$2,275.00	\$20.00	\$1,300.00	\$37.56	\$2,441.40	
17	HMA CI. 1/2-Inch PG 64-28	TON	65	\$140.00	\$9,100.00	\$150.00	\$9,750.00	\$130.00	\$8,450.00	\$182.52	\$11,863.80	
18	Manhole 48 In. Diam. Type 1	EA	4	\$3,800.00	\$15,200.00	\$5,000.00	\$20,000.00	\$6,000.00	\$24,000.00	\$4,610,48	\$18,441.92	
19	Shoring or Extra Excavation	LF	1,140	\$4.00	\$4,560.00	\$2.00	\$2,280.00	\$1.00	\$1,140.00	\$2.19	\$2,496.60	
20	Select Backfill, as Directed	CY	40	\$40.00	\$1,600.00	\$70.00	\$2,800.00	\$28.00	\$1,120.00	\$75,46	\$3,018.40	
21	PVC Sanitary Sewer Pipe 8 In. Diam.	LF	1,140	\$65.00	\$74,100.00	\$65.00	\$74,100.00	\$65.00	\$74,100.00	\$42.48	\$48,427.20	
22	PVC Sanitary Sewer Pipe 6 In. Diam.	LF	30	\$65.00	\$1,950.00	\$81.00	\$2,430.00	\$40.00	\$1,200.00	\$73.24	\$2,197.20	
23	Sewer Cleanout	EA	1	\$750.00	\$750.00	\$1,500.00	\$1,500.00	\$100.00	\$100.00	\$1,166.33	\$1,166.33	
	SCHED	ULE B SU	JBTOTAL		\$199,610.00		\$158,910.00		\$138,210.00	1 1 1 3 1 1	\$127,256.86	
	8.0% \$	LES TAX		\$15,968.80		\$12,712.80		\$11,056.80		\$10,180.55		
	sc	B TOTAL		\$215,578.80		\$171,622.80		\$149,266.80		\$137,437.41		

BID SUMMARY							BIDDER #1		BIDDER #2		BIDDER #3	
Owner: CITY OF CLE ELUM							DJB Construction, LLC		Granite Construction Company		Advantage Dirt Contractors, Inc.	
Pro	Project: SR 903 UTILITY EXTENSIONS						P.O. Box 2138		80 Pond Road		P.O. Box 1011	
HL	HLA Project No.: 18101						Wenatchee, WA 98807		Yakima, WA 98901		Kittitas, WA 98934	
Bio	Opening Date: July 8, 2019											
lterr	Item Description	Unit	Quantity	ENGINEER	'S ESTIMATE							
No.	Rem Bescription	Onic	Quantity	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	
	EDULE C - NUMBER 5 MINE ROAD & SR 903 WATER Ension									1		
24	Minor Change	FA	EST.	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	
25	Mobilization	LS	1	\$9,000.00	\$9,000.00	\$14,000.00	\$14,000.00	\$2,000.00	\$2,000.00	\$1,007.17	\$1,007.17	
26	Project Temporary Traffic Control	LS	1	\$2,000.00	\$2,000.00	\$1,000.00	\$1,000.00	\$2,500.00	\$2,500,00	\$10,871.73	\$10,871.73	
27	Clearing and Grubbing	LS	1	\$70,000.00	\$70,000.00	\$4,500.00	\$4,500.00	\$5,700.00	\$5,700.00	\$26,939.02	\$26,939.02	
28	Crushed Surfacing Base Course	TON	325	\$45.00	\$14,625.00	\$35.00	\$11,375.00	\$20.00	\$6,500.00	\$28.71	\$9,330.75	
29	Crushed Surfacing Top Course	TON	140	\$45.00	\$6,300.00	\$35.00	\$4,900.00	\$20.00	\$2,800.00	\$31,65	\$4,431.00	
30	HMA Cl. 1/2-Inch PG 64-28	TON	145	\$140.00	\$20,300.00	\$150.00	\$21,750.00	\$130.00	\$18,850.00	\$176.78	\$25,633.10	
31	Shoring or Extra Excavation	LF	1,510	\$4.00	\$6,040.00	\$1.00	\$1,510.00	\$1.00	\$1,510.00	\$1.65	\$2,491.50	
32	Select Backfill, as Directed	CY	65	\$40.00	\$2,600.00	\$70.00	\$4,550.00	\$28.00	\$1,820.00	\$68.56	\$4,456.40	
33	C-900 PVC Pipe for Water Main 12 In. Diam.	LF	1,510	\$60.00	\$90,600.00	\$47.00	\$70,970,00	\$55.00	\$83,050.00	\$52.19	\$78,806.90	
34	C-900 PVC Pipe for Water Main 6 In. Diam.	LF	70	\$65.00	\$4,550.00	\$129.00	\$9,030.00	\$34.00	\$2,380.00	\$44-10	\$3,087.00	
35	Tapping Sleeve and Valve Assembly 12 In.	EA	1	\$4,500.00	\$4,500.00	\$8,000.00	\$8,000.00	\$12,600.00	\$12,600.00	\$10,775.55	\$10,775.55	
36	Butterfly Valve 12 In.	EA	4	\$2,000.00	\$8,000.00	\$2,000.00	\$8,000.00	\$3,000.00	\$12,000.00	\$2,641.40	\$10,565.60	
37	Gate Valve 8 In.	EA	2	\$1,800.00	\$3,600.00	\$1,700.00	\$3,400.00	\$2,400.00	\$4,800.00	\$2,166.01	\$4,332.02	
38	Gate Valve 6 In.	EA	2	\$1,600.00	\$3,200.00	\$1,100.00	\$2,200.00	\$1,900.00	\$3,800.00	\$1,757.53	\$3,515.06	
39	Comb. Air Release/Air Vacuum Valve Assembly 2 In.	EA	2	\$4,000.00	\$8,000.00	\$5,000.00	\$10,000.00	\$6,860.00	\$13,720.00	\$5,055.83	\$10,111.66	
40	Hydrant Assembly	EA	6	\$4,500.00	\$27,000.00	\$5,000.00	\$30,000.00	\$6,500.00	\$39,000.00	\$4,557.97	\$27,347.82	
41	Bollard	EA	16	\$340.00	\$5,440.00	\$400.00	\$6,400.00	\$690.00	\$11,040.00	\$595.36	\$9,525.76	
42	Service Connection 2 In. Diam.	EA	1	\$2,200.00	\$2,200.00	\$6,000.00	\$6,000.00	\$1,600.00	\$1,600.00	\$5,476.34	\$5,476.34	
43	HDPE DR11 Pipe for Watermain 12 In. Diam.	LF	95	\$70.00	\$6,650.00	\$100.00	\$9,500.00	\$147.00	\$13,965.00	\$139.57	\$13,259.15	
	SCHED		\$299,605.00		\$232,085.00		\$244,635.00		\$266,963.53			
	8.0% \$	STATE SA	LES TAX		\$23,968.40		\$18,566.80		\$19,570.80		\$21,357.08	
	sc		\$323,573.40		\$250,651.80		\$264,205.80		\$288,320.61			

BID SUM	BIDDER #1		BIDDER #2		BIDDER #3					
Owner: CITY OF CLE ELUM		DJB Construction, LLC		Granite Construction Company		Advantage Dirt Contractors, Inc.				
Project: SR 903 UTILITY EXTENSIONS		P.O. Box 2138		80 Pond Road		P.O. Box 1011				
HLA Project No.: 18101			Wenatchee, WA 98807		Yakima, WA 98901		Kittitas, WA 98934			
Bid Opening Date: July 8, 2019										
Item Description	11-14		ENGINEER'S ESTIMATE							
No.	Unit	Quantity	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount
SCHEDULE D - ZONE 3 TO ZONE 2 PRESSURE REDUCING	VALVE ST	TATION			,	Y				
44 Minor Change	FA	EST.	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00
45 Mobilization	LS	1	\$2,300.00	\$2,300.00	\$3,400.00	\$3,400.00	\$8,000.00	\$8,000.00	\$5,582.68	\$5,582.68
46 Clearing and Grubbing	LS	1	\$500.00	\$500.00	\$1,000.00	\$1,000.00	\$6,150.00	\$6,150.00	\$2,494.00	\$2,494.00
47 Unclassified Excavation Incl. Haul	CY	45	\$35.00	\$1,575,00	\$200.00	\$9,000.00	\$29.00	\$1,305.00	\$48.36	\$2,176.20
48 Pressure Reducing Valve Station - Complete, in Place	LS	1	\$80,000,00	\$80,000.00	\$75,000.00	\$75,000.00	\$87,530.00	\$87,530,00	\$86,222.83	\$86,222.83
SCHED	ULE D SU	JBTOTAL		\$89,375.00		\$93,400.00		\$107,985.00		\$101,475.71
8.0% \$		\$7,150.00		\$7,472.00		\$8,638.80		\$8,118.06		
sc		\$96,525.00		\$100,872.00		\$116,623.80		\$109,593.77		
SCHEDULE E - KITTITAS COUNTY TRANSFER STATION WA	TER CON	INECTION							L. I.	
49 Mobilization	LS	1	\$2,000.00	\$2,000.00	\$3,000.00	\$3,000.00	\$8,000.00	\$8,000.00	\$5,582.68	\$5,582.68
50 Project Temporary Traffic Control	LS	1	\$500.00	\$500.00	\$500.00	\$500,00	\$500.00	\$500.00	\$8,104.58	\$8,104.58
51 Clearing and Grubbing	LS	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$5,710.00	\$5,710.00	\$8,012.20	\$8,012.20
52 Shoring or Extra Excavation	LF	60	\$4.00	\$240.00	\$1.00	\$60.00	\$1.00	\$60.00	\$41.56	\$2,493.60
53 Select Backfill, as Directed	CY	55	\$40.00	\$2,200.00	\$70.00	\$3,850.00	\$28.00	\$1,540.00	\$70.45	\$3,874.75
54 C-900 PVC Pipe for Water Main 8 In, Diam.	LF	36	\$60.00	\$2,160.00	\$150.00	\$5,400.00	\$155.00	\$5,580.00	\$190.31	\$6,851.16
55 Gate Valve 8 In.	EA	1	\$1,800.00	\$1,800.00	\$1,700.00	\$1,700.00	\$2,000.00	\$2,000.00	\$2,099.94	\$2,099.94
56 8" Double Check Valve Detector Backflow Assembly	LS	1	\$27,000.00	\$27,000.00	\$25,000.00	\$25,000.00	\$30,900.00	\$30,900.00	\$21,054.98	\$21,054.98
57 8" Fire Service Meter Assembly	LS	1	\$26,000.00	\$26,000,00	\$30,000.00	\$30,000.00	\$41,760.00	\$41,760.00	\$25,028.50	\$25,028.50
SCHED	ULE E SU	JBTOTAL		\$62,900.00		\$70,510.00		\$96,050.00		\$83,102.39
8.0% \$		\$5,032.00		\$5,640.80		\$7,684.00		\$6,648.19		
sc		\$67,932.00		\$76,150.80		\$103,734.00		\$89,750.58		
SCHEDULE A + B	+ C + D +	E TOTAL		\$744,616.80		\$656,969.40		\$693,727.20		\$707,705.22

BID SUM	BIDDER #1		BIDDER #2		BIDDER #3						
Owner: CITY OF CLE ELUM	DJB Construction, LLC		Granite Construction Company		Advantage Dirt Contractors, Inc.						
Project: SR 903 UTILITY EXTENSIONS	P.O. Box 2138		80 Pond Road		P.O. Box 1011						
HLA Project No.: 18101	Wenatchee, WA 98807		Yakima, WA 98901								
Bid Opening Date: July 8, 2019					**Cilatorice, ***	(30007	Takilla, WA 90	901	Kittitas, WA 98	934	
tem Item Description	l lait		ENGINEER'S ESTIMATE								
No. Rem Description	Unit	Quantity	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	
<u>ENGINEER'S</u>	ADDITIONAL BID TOTALS										
	BIDDER				BID TOTAL						
Competitive bids were opened on July 8, 2019. All bids have been reviewed by this office.						TTC Construction, Inc.					
We recommend the contract be awarded to: DJB Construction	n, LLC				J&K Earthworks, LLC				\$775,479.96		
Charles .					Pipkin, Inc. dba Pipkin Construction				\$796,926,60		
PRAIL TIMINA		M	0 10		Belsaas & Smith Construction, Inc.				\$798,368.40		
o key o peurs	May 7 200 7-8-19					Northwest Cascade, Inc.				\$892,998.00	
Project Engineer		Date			Plats Plus, Inc.				\$1,150,898.66		
T	TT	A									
	[L]										
Engineering	nd Land Survey	ing, Inc.									
* Bid results can be found at: www.hlacivil.com					* Highlighted amou	nts have been correct	ied.				